

Let  $a \in \bigcap_{i=1}^{\infty} I_i$  then

$$\{d^{-1}a^n\} \in \left[ \frac{a}{d}, \frac{a+1}{d} \right), \quad n = 1, 2, \dots$$

There are uncountably many such numbers since at each stage in the construction there are two disjoint choices for  $I_{j+1}$ .

#### References

- [1] H. G. Eggleston, *Sets of fractional dimension which occur in some problems of number theory*, Proc. London Math. Soc. 54 (1951-52), pp. 42-93.  
 [2] P. Erdős, *Problems and results in Diophantine approximations II, Repartition Modulo 1*, Lecture Notes in Mathematics, Vol. 475, Springer Verlag, New York 1975.  
 [3] B. de Mathan, *Sur un problème de densité modulo 1*, C. R. Acad. Sc. Paris, Series A, 287 (1978), pp. 277-279.  
 [4] — *Numbers contravening a condition in density modulo 1*, to appear.  
 [5] C. A. Rogers, *Hausdorff measures*, Camb. Univ. Press, 1970.  
 [6] R. C. Vaughan, *On the distribution of  $ap \pmod 1$* , Mathematika 24 (1977), pp. 135-141.  
 [7] I. M. Vinogradov, *On an estimate of trigonometric sums with prime numbers* (Russian), Izv. Akad. Nauk SSSR, ser. mat. (1137) 12 (1948), pp. 225-248.

ILLINOIS STATE UNIVERSITY  
 Normal, Illinois 61761, USA

Received on 20. 2. 1979  
 and in revised form on 24. 9. 1979

(1137)

## On a result of Littlewood concerning prime numbers

by

D. A. GOLDSTON (Berkeley, Calif.)

### 1. Introduction. We define

$$(1.1) \quad \psi(x) = \sum_{n \leq x} \Lambda(n)$$

where

$$(1.2) \quad \Lambda(n) = \begin{cases} \log p, & n = p^m, p \text{ prime, } m \text{ integer } \geq 1, \\ 0 & \text{otherwise.} \end{cases}$$

The prime number theorem is equivalent to

$$(1.3) \quad \psi(x) \sim x \quad (\text{as } x \rightarrow \infty).$$

Assuming the Riemann Hypothesis (the RH), we have the more precise result

$$(1.4) \quad \psi(x) - x = O(x^{1/2} \log^2 x)$$

and, on the other hand, we have (without hypothesis)

$$(1.5) \quad \psi(x) - x = \Omega_{\pm}(x^{1/2} \log \log x).$$

The result (1.4) is due to von Koch in 1901, while (1.5) was proved by Littlewood in 1914 (see [4], Chapters 4, 5). Presumably (1.5) is nearer to the truth. The basis for these results is the explicit formula for  $\psi(x)$ :

$$(1.6) \quad \frac{\psi(x+0) + \psi(x-0)}{2} = x - \sum_{\rho} \frac{x^{\rho}}{\rho} - \frac{\zeta'}{\zeta}(0) - \frac{1}{2} \log(1-x^{-2})$$

the summation being over the non-trivial zeros of the zeta function,  $\rho = \beta + i\gamma$ . (The RH allows us to take  $\beta = 1/2$ .) The series in (1.6) is neither absolutely nor uniformly convergent, and is understood as

$$\sum_{\rho} \frac{x^{\rho}}{\rho} = \lim_{T \rightarrow \infty} \sum_{|\gamma| < T} \frac{x^{\rho}}{\rho}.$$



For applications it is often useful to replace (1.6) by a formula due to Landau ([6], pp. 108-120, [1], Ch. 5): For  $k$  some absolute positive constant,

$$(1.7) \quad \left| \psi(x) - x + \sum_{|y| < y} \frac{x^y}{y} \right| < k \left( \frac{x \log^2 x}{y} + \frac{x \log y}{y} + \log x \right) \quad (x \geq 3, y \geq 3).$$

If  $y \geq x^{1/2} \log x$ , (1.7) implies ( $k'$  an absolute constant),

$$(1.8) \quad \left| \psi(x) - x + \sum_{|y| < y} \frac{x^y}{y} \right| < k' x^{1/2} \log x \quad (x \geq 5, y \geq x^{1/2} \log x).$$

Assuming the Riemann Hypothesis, Littlewood proved in [7] that the condition  $y \geq x^{1/2} \log x$  in (1.8) can be replaced by  $y \geq x^{1/2}$ . In this paper we show, again assuming the Riemann Hypothesis, that we can take  $y \geq x^{1/2} / \log x$ .

This slight improvement allows us to give a simple proof of a result due to Cramér in 1919; assuming the RH, and letting  $p_n$  denote the  $n$ th prime,

$$(1.9) \quad p_{n+1} - p_n = O(p_n^{1/2} \log p_n)$$

(see [2], [3]). Our proof is similar in principle to the proof given by Ingham ([5], p. 256), but proceeds more directly to the result. We also give a simple proof of the closely related result, assuming the RH,  $h \leq x$ ,

$$(1.10) \quad \pi(x+h) - \pi(x) \sim \frac{h}{\log x}, \quad \frac{h}{x^{1/2} \log x} \rightarrow \infty \quad \text{as } x \rightarrow \infty.$$

Here  $\pi(x)$  is the number of primes less than or equal to  $x$ . This result was stated by Selberg [9].

**2. A lemma.** We need a lemma due to Littlewood [7].

LEMMA. If  $|z| \leq 1/2$ ,  $|mz| \leq 2$ , then

$$|(1+z)^m - 1 - mz| \leq 2.6 |m| (|m|+1) |z|^2.$$

Proof. Let  $|z| = r$ ,  $|m| = \mu$ , and we may suppose  $r > 0$ ,  $\mu > 0$ . We have

$$T = \left| \frac{(1+z)^m - 1 - mz}{|m| (|m|+1) |z|^2} \right| \leq \sum_{n=2}^{\infty} \frac{|m(m-1) \dots (m-n+1)|}{\mu(\mu+1)n!} r^{n-2} \\ \leq \sum_{n=2}^{\infty} \frac{\mu(\mu+1) \dots (\mu+n-1)}{\mu(\mu+1)n!} r^{n-2} = \frac{(1-r)^{-\mu} - 1 - \mu r}{\mu(\mu+1)r^2}.$$

With  $r$  fixed, the second to last expression clearly increases with  $\mu$ , and so is maximum when  $\mu = 2/r$ . Thus we have

$$T \leq \frac{(1-r)^{-2/r} - 3}{2(2+r)}.$$

This last expression is strictly increasing for  $0 < r < 1$ . To see this, we differentiate and obtain

$$\frac{1}{2(2+r)^2(1-r)^{2/r}} \left[ [2r^{-2} \log(1-r) + 2r^{-1}(1-r)^{-1}](2+r) - 1 \right] + \frac{3}{2(2+r)^2}.$$

Expanding  $\log(1-r)$  and  $(1-r)^{-1}$  into power series (valid for  $0 < r < 1$ ) and multiplying out shows this expression is positive. Since  $0 < r \leq 1/2$ , we conclude

$$T \leq \frac{(1-.5)^{-4} - 3}{2(2.5)} = \frac{16-3}{5} = 2.6.$$

**3. The main theorem.** Throughout the rest of this paper we will assume the Riemann Hypothesis. Thus the complex zeros of  $\zeta(s)$  are  $\rho = \beta + i\gamma = \frac{1}{2} + i\gamma$ . We denote by  $\theta$  a number satisfying  $|\theta| \leq 1$ . The number denoted will, in general, be different for different occurrences and may depend on variables. Most of our formulas will hold "for  $x$  sufficiently large", and we will denote this by " $x > A$ ", where  $A$  is some positive absolute constant which may differ on different occasions.

THEOREM 1. Assuming the Riemann Hypothesis, we have

$$(3.1) \quad \left| \psi(x) - x + \sum_{|y| < y} \frac{x^y}{y} \right| < \frac{x}{2y} + 2x^{1/2} \log y, \quad x \geq 3, y > A.$$

In particular,

$$(3.2) \quad \psi(x) - x = - \sum_{|y| < y} \frac{x^y}{y} + O(x^{1/2} \log x)$$

uniformly for  $y \geq x^{1/2} / \log x$ ,  $x > A$ ; and

$$(3.3) \quad \left| \psi(x) - x + \sum_{|y| < x^{1/2} / \log x} \frac{x^y}{y} \right| < 1.5x^{1/2} \log x, \quad x > A.$$

Proof. Let  $\psi_1(x) = \int_0^x \psi(\tau) d\tau$ . The explicit formula for  $\psi_1(x)$  is, for  $x \geq 1$ ,

$$(3.4) \quad \psi_1(x) = \frac{x^2}{2} - \sum_{\rho} \frac{x^{\rho+1}}{\rho(\rho+1)} - x \frac{\zeta'}{\zeta}(0) + \frac{\zeta'}{\zeta}(-1) - \sum_{r=1}^{\infty} \frac{x^{1-2r}}{2r(2r-1)}$$

(see [4], p. 73). Let  $h$  be a function of  $x$  such that  $1 \leq h \leq x/2$ . Then

$$\frac{\psi_1(x \pm h) - \psi_1(x)}{\pm h} = x \pm \frac{h}{2} - \sum_{\rho} \frac{(x \pm h)^{\rho+1} - x^{\rho+1}}{\rho(\rho+1)(\pm h)} - \frac{\zeta'}{\zeta}(0) \mp \frac{1}{h} \sum_{r=1}^{\infty} \frac{(x \pm h)^{1-2r} - x^{1-2r}}{2r(2r-1)}.$$

Now  $\frac{\zeta'}{\zeta}(0) = \log 2\pi < 2$ ; and for  $x \geq 3$ ,

$$\left| \mp \frac{1}{h} \sum_{r=1}^{\infty} \frac{(x \pm h)^{1-2r} - x^{1-2r}}{2r(2r-1)} \right| \leq \sum_{r=1}^{\infty} \frac{x^{-1}(2+1)}{2r(2r-1)} \leq \sum_{r=1}^{\infty} \left[ \frac{-1}{2r} + \frac{1}{2r-1} \right] = 1.$$

Hence for  $x \geq 3$ ,  $1 \leq h \leq x/2$ ,

$$(3.5) \quad \frac{\psi_1(x \pm h) - \psi_1(x)}{\pm h} = x \pm \frac{h}{2} - \sum_{|\rho| < y} \frac{(x \pm h)^{\rho+1} - x^{\rho+1}}{\rho(\rho+1)(\pm h)} - \sum_{|\rho| > y} \frac{(x \pm h)^{\rho+1} - x^{\rho+1}}{\rho(\rho+1)(\pm h)} + K,$$

where  $K$  depends on  $x$  and  $h$ , and  $|K| < 3$ .

We have (without hypothesis)

$$(3.6) \quad \sum_{T < \gamma} \frac{1}{\gamma^2} = \frac{1}{2\pi} \frac{\log T}{T} + O\left(\frac{1}{T}\right) \quad \text{as } T \rightarrow \infty$$

(see [4], Th. 25b; an argument like the one on p. 98 gives this result).

The second sum on the right of (3.5) is in absolute value

$$< \sum_{|\rho| > y} \frac{\left(\frac{3}{2}\right)^{3/2} + 1}{\gamma^2 h} x^{3/2} < \frac{6x^{3/2}}{h} \sum_{\gamma > y} \frac{1}{\gamma^2} = \frac{6x^{3/2} \log y}{h} (1 + o(1)) < \frac{x^{3/2} \log y}{hy},$$

for  $y > A$ .

We have used here  $h \leq x/2$ , (3.6), and the fact that the zeros of  $\zeta(s)$  are symmetric with the real axis. Next, the first sum in (3.5) is equal to

$$- \sum_{|\rho| < y} \frac{x^{\rho}}{\rho} - \sum_{|\rho| < y} \frac{(x \pm h)^{\rho+1} - x^{\rho+1} \mp h(\rho+1)x^{\rho}}{\rho(\rho+1)(\pm h)}.$$

Denote by  $w_{\rho}$  the general term of the second sum. Thus

$$w_{\rho} = x^{\rho+1} \left[ \frac{(1 \pm h/x)^{\rho+1} - 1 \mp h/x(\rho+1)}{\rho(\rho+1)(\pm h)} \right].$$

We now apply the lemma taking  $z = \pm h/x$ ,  $m = \rho+1$ , and impose the condition

$$(3.7) \quad y \leq x/h.$$

The two conditions of the lemma are thus satisfied, for  $|z| = h/x \leq 1/2$ , and, since  $|\gamma| < y$  in our sum,

$$|mz| = |\rho+1|(h/x) \leq (3/2 + |\gamma|)(h/x) \leq (3/2 + y)(h/x) \leq 3/4 + 1 < 2.$$

Therefore,

$$\begin{aligned} |w_{\rho}| &\leq x^{3/2} \frac{2.6|\rho+1|(|\rho+1|+1)(h/x)^2}{|\rho(\rho+1)(\pm h)|} \\ &= 2.6x^{-1/2} h \frac{|\rho+1|+1}{|\rho|} \leq 2.6x^{-1/2} h(1+(2/|\rho|)) \\ &< 2.6x^{-1/2} h(1+1/7) < 3x^{-1/2} h, \end{aligned}$$

since  $1/|\rho| < 1/|\gamma| < 1/14$ .

Let  $N(T)$  denote the number of zeros of  $\zeta(s)$  with  $0 < \gamma \leq T$ . Then (without hypothesis)

$$(3.8) \quad N(T) = \frac{T}{2\pi} \log \frac{T}{2\pi} - \frac{T}{2\pi} + O(\log T),$$

and consequently

$$(3.9) \quad N(T) < \frac{T}{2\pi} \log T \quad \text{for } T > A.$$

Returning to our sum,

$$\left| - \sum_{|\rho| < y} w_{\rho} \right| \leq 6hx^{-1/2} \sum_{0 < \gamma < y} 1 < 6hx^{-1/2} \left( \frac{y}{2\pi} \log y \right) < x^{-1/2} hy \log y,$$

for  $y > A$ . Combining these results in (3.5) we obtain

$$(3.10) \quad \frac{\psi_1(x \pm h) - \psi_1(x)}{\pm h} = x \pm \frac{h}{2} + \theta_1 \frac{x^{3/2} \log y}{hy} + \theta_2 x^{-1/2} hy \log y - \sum_{|\rho| < y} \frac{x^{\rho}}{\rho}$$

for  $y > A$ ,  $x \geq 3$ ,  $1 \leq h \leq x/2$ , and subject to (3.7). (The term  $K$  was absorbed into  $\theta_1 x^{3/2} \log y / hy$  since we rounded up to obtain this estimate, and by (3.7) this term is  $> \theta_1 x^{1/2}$ .) The  $\theta$ 's depend on  $x$  and  $h$ , and will be different in the cases  $+h$  and  $-h$ .

Since  $\psi(x)$  is nondecreasing, we have

$$\frac{\psi_1(x-h) - \psi_1(x)}{-h} = \frac{1}{h} \int_{x-h}^x \psi(\tau) d\tau \leq \psi(x) \leq \frac{1}{h} \int_x^{x+h} \psi(\tau) d\tau = \frac{\psi_1(x+h) - \psi_1(x)}{h}.$$



Hence from (3.10) we obtain, subject to the same conditions,

$$(3.11) \quad \left| \psi(x) - x + \sum_{|r| < y} \frac{x^e}{e} \right| < \frac{x^{3/2} \log y}{hy} + x^{-1/2} hy \log y + \frac{h}{2}.$$

Comparing the first two terms on the right, we choose  $hy = x$ . Thus (3.7) is satisfied, and we have, for  $y > A$ ,  $x \geq 3$ ,

$$\left| \psi(x) - x + \sum_{|r| < y} \frac{x^e}{e} \right| < \frac{x}{2y} + 2x^{1/2} \log y.$$

This proves (3.1).

We now pick  $x^{1/2}/\log x \leq y \leq x$  and obtain

$$\left| \psi(x) - x + \sum_{|r| < y} \frac{x^e}{e} \right| < \frac{1}{2} x^{1/2} \log x + 2x^{1/2} \log x = O(x^{1/2} \log x).$$

For  $y \geq x$  Landau's result (1.7) implies

$$\psi(x) - x + \sum_{|r| < y} \frac{x^e}{e} = O(\log^2 x) \quad (y \geq x \geq 3).$$

Equation (3.2) now follows.

Finally, setting  $y = x^{1/2}/\log x$  in (3.1), we have, for  $x > A$ ,

$$\left| \psi(x) - x + \sum_{|r| < x^{1/2}/\log x} \frac{x^e}{e} \right| < \frac{1}{2} x^{1/2} \log x + 2x^{1/2} \log x^{1/2} - 2x^{1/2} \log \log x < \frac{3}{2} x^{1/2} \log x.$$

**4. Application to Cramér's theorem.** As a simple consequence of our theorem we have

**THEOREM 2 (Cramér).** *Assuming the Riemann Hypothesis, we have*

$$(4.1) \quad \pi(x + 5x^{1/2} \log x) - \pi(x) > x^{1/2} \quad \text{for } x > A,$$

and

$$(4.2) \quad p_{n+1} - p_n < 4p_n^{1/2} \log p_n \quad \text{for } n > A.$$

**Proof.** In what follows we suppose  $x$  is sufficiently large, and will not indicate it again.

Let  $1 \leq h \leq x/5$ . Replacing  $x$  by  $x+h$  in (3.1) and taking  $y = x^{1/2}/\log x$ , we have

$$\begin{aligned} \left| \psi(x+h) - (x+h) + \sum_{|r| < x^{1/2}/\log x} \frac{(x+h)^e}{e} \right| &< \frac{(x+h) \log x}{2x^{1/2}} + 2(x+h)^{1/2} \log(x^{1/2}) \\ &< x^{1/2} \log x + \left[ \frac{6}{5} \right]^{1/2} x^{1/2} \log x < 1.7 x^{1/2} \log x. \end{aligned}$$

Combining this with (3.3) we have

$$(4.3) \quad \psi(x+h) - \psi(x) = h - \sum_{|r| < x^{1/2}/\log x} \frac{(x+h)^e - x^e}{e} + 3.2\theta x^{1/2} \log x.$$

Since

$$\left| \frac{(x+h)^e - x^e}{e} \right| = \left| \int_x^{x+h} \tau^{e-1} d\tau \right| \leq x^{-1/2} h,$$

$$\begin{aligned} (4.4) \quad \psi(x+h) - \psi(x) &= h + \theta x^{-1/2} h \sum_{|r| < x^{1/2}/\log x} 1 + 3.2\theta x^{1/2} \log x \\ &= h + 2\theta x^{-1/2} h \left[ \frac{1}{2\pi} \frac{x^{1/2}}{\log x} \log(x^{1/2}/\log x) \right] + 3.2\theta x^{1/2} \log x, \end{aligned}$$

by (3.9),

$$= h + \frac{\theta h}{2\pi} + 3.2\theta x^{1/2} \log x.$$

Thus, taking  $h = 5x^{1/2} \log x$ , we have

$$(4.5) \quad \psi(x + 5x^{1/2} \log x) - \psi(x) > 5x^{1/2} \log x - \left( \frac{5}{2\pi} + 3.2 \right) x^{1/2} \log x > x^{1/2} \log x.$$

Finally, we have for  $1 \leq h \leq x$  ( $[w]$  = integer part of  $w$ ),

$$\begin{aligned} (4.6) \quad \psi(x+h) - \psi(x) &= \sum_{x < p \leq x+h} \log p + O \left( \sum_{p^2 \leq x+h} \log p \left[ \frac{\log(x+h)}{\log p} \right] \right) \\ &= \sum_{x < p \leq x+h} (\log x + O(1)) + O \left( \sum_{p^2 \leq 2x} \log 2x \right) \\ &= \{ \pi(x+h) - \pi(x) \} (\log x + O(1)) + O(x^{1/2}). \end{aligned}$$

Combining (4.5) and (4.6) proves (4.1). Next, taking  $h = 4x^{1/2} \log x$  in (4.4) gives

$$(4.7) \quad \psi(x + 4x^{1/2} \log x) - \psi(x) > .1x^{1/2} \log x > 0.$$

Equation (4.6) now implies  $\pi(x + 4x^{1/2} \log x) - \pi(x) > .1x > 0$ . Taking  $x = p_n$ , we see  $p_{n+1} - p_n < 4x^{1/2} \log x = 4p_n^{1/2} \log p_n$ .

The constants in (4.1) and (4.2) can be decreased. The 5 in (4.1) may be replaced by a number less than 4 and the 4 in (4.2) by a number less than 2. It is interesting to compare this with the conjectured result [8]

$$(4.8) \quad \psi(x+h) - \psi(x) = h + O(h^{1/2} x^e), \quad 1 \leq h \leq x.$$

We can give an easy proof of the best result known in this direction, assuming the RH. It is stated in [9].

**THEOREM 3.** *Assume the Riemann Hypothesis. Let  $h$  be a function of  $x$  such that (i)  $h \leq x$ , (ii)  $h$  is monotonically increasing, and (iii)  $h/(x^{1/2} \log x) \rightarrow \infty$  as  $x \rightarrow \infty$ . Then*

$$(4.9) \quad \psi(x+h) - \psi(x) \sim h$$

and

$$(4.10) \quad \pi(x+h) - \pi(x) \sim h/\log x.$$

**Proof.** The two assertions are equivalent by (4.6) and (iii). Thus we shall prove (4.9). Let  $\varphi(x)$  be any function such that  $\varphi(x) \rightarrow \infty$  as  $x \rightarrow \infty$  and  $\varphi(x) = O(\log x)$ . Then by (4.3)

$$\psi(x+h) - \psi(x) = h - \sum_1 \frac{(x+h)^e - x^e}{e} - \sum_2 \frac{(x+h)^e - x^e}{e} + O(x^{1/2} \log x),$$

where  $\sum_1$  is summed over  $|\gamma| < x^{1/2}/(\log x)\varphi(x)$ , and  $\sum_2$  is summed over  $x^{1/2}/(\log x)\varphi(x) \leq |\gamma| < x^{1/2}/\log x$ . Handling  $\sum_1$  as before,

$$\begin{aligned} \psi(x+h) - \psi(x) &= h + O\left(hx^{-1/2} \left(\frac{x^{1/2}}{(\log x)\varphi(x)}\right) \left(\log\left(\frac{x^{1/2}}{(\log x)\varphi(x)}\right)\right)\right) + \\ &\quad + O\left(x^{1/2} \sum_2 \frac{1}{\gamma}\right) + O(x^{1/2} \log x). \end{aligned}$$

Since (see [4], p. 98)

$$(4.11) \quad \sum_{0 < \gamma < T} \frac{1}{\gamma} = \frac{1}{4\pi} \log^2 T + O(\log T),$$

we obtain

$$\begin{aligned} \psi(x+h) - \psi(x) &= h + O\left(\frac{h}{\varphi(x)}\right) + \\ &\quad + O\left(x^{1/2} \left\{ \frac{1}{4\pi} (\log x^{1/2} - \log \log x)^2 - \frac{1}{4\pi} (\log x^{1/2} - \log \log x - \log \varphi(x))^2 + \right. \right. \\ &\quad \left. \left. + O(\log x) \right\}\right) + O(x^{1/2} \log x) \\ &= h + O\left(\frac{h}{\varphi(x)}\right) + O(x^{1/2} (\log x) (\log \varphi(x))) + O(x^{1/2} \log x). \end{aligned}$$

Hence,

$$(4.12) \quad \psi(x+h) - \psi(x) = h + O\left(\frac{h}{\varphi(x)}\right) + O(x^{1/2} (\log x) (\log \varphi(x))).$$

We obtain the theorem by picking  $h$  larger than the last order term, i.e.  $h \geq x^{1/2} (\log x) \varphi(x)$ .

We note that by (4.4),  $K$  any positive constant, and  $x > A$ ,

$$(4.13) \quad [K(1 - 1/2\pi) - 3.2]x^{1/2} \log x < \psi(x + Kx^{1/2} \log x) - \psi(x) < [K(1 + 1/2\pi) + 3.2]x^{1/2} \log x.$$

It seems to require new ideas to replace (4.13) by an asymptotic result. The above proof shows how Theorem 1 must be improved in order to obtain new results on primes in short intervals. Let  $\varphi(x)$  be any function monotonically increasing to infinity. Then the result

$$(4.14) \quad \psi(x) - x = - \sum_{|\gamma| < y} \frac{x^\gamma}{\gamma} + O(E(x)) \text{ uniformly for } y \geq \frac{x^{1/2}}{(\log x)\varphi(x)},$$

$x > A$ , implies (with RH)  $\psi(x+h) - \psi(x) = h + O(h/\varphi(x)) + O(E(x))$ ,  $1 \leq h \leq x$ ,  $x > A$ . This gives (i)  $\psi(x+h) - \psi(x) \sim h$  if  $h/E(x) \rightarrow \infty$  as  $x \rightarrow \infty$  and (ii)  $p_{n+1} - p_n = O(E(p_n))$ . When  $\gamma \sim x^{1/2}/\log x$  the terms in the sum in (4.14) are  $O(\log x)$ . This, together with the cancellation between terms in the sum makes it seem reasonable that  $E(x)$  is smaller than in Theorem 1.

#### References

- [1] K. Chandrasekharan, *Arithmetical functions*, Springer-Verlag, 1970.
- [2] H. Cramér, *Some theorems concerning prime numbers*, Arkiv För Matematik, Astronomi Och Fysik 15.5 (1921), pp. 1-33.
- [3] — *On the order of magnitude of the difference between consecutive prime numbers*, Acta Arith. 2 (1930), pp. 23-46.
- [4] A. E. Ingham, *The distribution of prime numbers*, reprinted by Stechart-Hafner Service Agency, New York 1964.
- [5] — *On the difference between consecutive primes*, Quarterly Journal of Mathematics 8 (1937), pp. 255-266.
- [6] E. Landau, *Vorlesungen über Zahlentheorie*, Verlag von S. Hirzel, Leipzig 1927.
- [7] J. E. Littlewood, *Two notes on the Riemann  $\zeta$ -function*, Proceedings of the Cambridge Philosophical Society 22 (1924), pp. 234-242.
- [8] H. L. Montgomery, *Problems concerning prime numbers*, in *Mathematical developments arising from Hilbert's Problems*, American Mathematical Society, Proceedings in Pure Mathematics, Vol. 28, 1976.
- [9] A. Selberg, *On the normal density of primes in small intervals, and the difference between consecutive primes*, Archiv For Matematik og Naturvidenskab, 47.6 (1943), pp. 87-105.

DEPARTMENT OF MATHEMATICS  
UNIVERSITY OF CALIFORNIA  
Berkeley, California 94720, USA

Received on 2. 3. 1979  
and in revised form on 16. 11. 1979

(1139)